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QUESTION 1
Which statement is TRUE about Balanced Optimization?
A. Balanced Optimization is installed with InfoSphere DataStage.

B. Balanced Optimization creates a parameter set called BalOpJAQLParams in the underlying project if it does not
exist.

C. Balanced Optimization will change or optimize machine configurations, InfoSphere DataStage configurations,
database configurations, or HDFS configurations.

D. Balanced optimizations are performed in a priority order. When there is ambiguity (for example, some
processing could be performed either in a source or target database) processing is pushed into database sources.

Correct Answer: D

QUESTION 2

Which of the following locations will allow you to obtain a job\\'s runtime logs? (Choose two.)
A. Designer

B. ISManager

C. Workload Manager

D. Operations Console

E. Performance Monitor

Correct Answer: CE

QUESTION 3

For very large records, you may need to set the following environment variable with an appropriate value in order to
allow the job to run successfully:

A. $APT_MONITOR_SIZE

B. $APT_RECORD_COUNTS

C. $APT_DISABLE_COMBINATION

D. $APT_DEFAULT_TRANSPORT_BLOCK_SIZE

Correct Answer: D
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QUESTION 4

You want to retain the record with the largest value in the TotalAmount column for each CustID and ProductType using
a Remove Duplicates stage. How can this be accomplished?

A. Hash partition on TotalAmount. Sort on CustID, ProductType and TotalAmount

B. Hash partition on ProductType. Sort on CustID, ProductType and TotalAmount

C. Hash partition on CustID and ProductType. Sort on CustID, ProductType and TotalAmount

D. Hash partition on CustID, ProductType and TotalAmount. Sort on CustID, ProductType and TotalAmount

Correct Answer: C

QUESTION 5

The Lookup stage is one of three stages that join records based on the values of key columns. What are the other
stages? (Choose two.)

A. Join

B. Merge

C. Modify

D. Funnel

E. Difference

Correct Answer:. AB
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